2.0.0 -1940 2.0.0-1940

Runtime (in hr) 3.01 NA

Avg. Drain Rate 567.18 NANA
Peak Disk (GB) 85.57 NA
Peak Memory (GB) 11.87 NA

Avg. OPS 8.50K NANA
Avg. mem memcached (GB) 11.26 NA
Avg. mem beam.smp (MB) 585.24 NA
Avg. CPU rate (%) 79.8 NA
Latency—get (90th) (ms) 6.18 NA
Latency-get (95th) (ms) 12.2 NA
Latency—get (99th) (ms) 43.23 NA
Latency—set (90th) (ms) NA NA
Latency—-set (95th) (ms) NA NA
Latency—set (99th) (ms) NA NA
Latency—query (80th) (ms) 113.47 NA
Latency-query (90th) (ms) 165.65 NA
Latency-query (95th) (ms) 277.75 NA
Latency—query (99th) (ms) 2680 NA
Latency—query (99.9th) (ms) 6476.61 NA
Avg. QPS 229.12 NA
Avg. XDC ops/sec 873.07 NA
Avg. XDC docs to replicate NaN NA
Rebalance Time (sec) 0 NA
Testrunner Version fbc38b5 NA
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Seconds

Indexing time (0-5 sec) — explorer.server.1
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Seconds

Indexing time (0-5 sec) — explorer.server.2
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Seconds

Indexing time (0-5 sec) — explorer.server.3

.
.
. © ©
. .
.
.
.
. ° .
. o®
°
° LX)
LA °
.
‘ ° ° ° e
° . ° °
.
. . L4 o
° : ° ‘ : . © ° : N ©
.
eee o o. .' e o ° ‘ .
. . . -
° . . . : . . . . .
° L4 . L]
.
¢ . o®° ° ¢ ‘ o ° o oo :
® o L
. . °« ° ° .
. ° ° LXJ o ° .
e o4 . . °
e o © ° . .
'. . L4 . . . °
°
. ° ° o, o . . . .. .'o °
i © ¢ ¢ .o o ° ° . .’
° . . . ° °
e o . ° o ° o o R . o .
. ° . . .,
. . e o o -‘ . * R e % °® e ®
° . . °« °, . ° e e
° ° . . o ©o° . o ®
° .
% ° °
..oo ® . © ° ¢ . * . « ° . .
° . . o, % . e ® ° .
... ° . . . .. T T -.. 1) T - 1. ° L .
. . oo . o . - oo - ° . °
. . ° . [ . °e o .
L » ®e . o o ° o . - .
ee °°° . - o ® . - ® ° . . . e o° o . K
° ‘ °° ‘ ° ° o © . S
. .
-o.o :. N ‘ t . N ° ° oe ° ° : ° °
° R ® . oo . o - 0ee® %o ® . . N ¢ oo
° oo ° . o ° . . % S e '.... . o ammm—i
oo ¢ ° ° ° ° ®e oo ¢ . . ...: S Sand ° .
N ® o0 o (] . [ . %o % . ...
:’f. ®e . °® ° A . ° &
:.. ° . ° . ° ° e o o ° ° ° .:K - .

U U U U
2000 4000 6000 8000

)
10000
————time (sec)———>

buildinfo.version

2.0.0-1940-rel-enterprise

xperf-read—1-uni-views.loop / 2.0.0-1940-rel-enterprise / 2.0.0-1940-rel-enterprise / 06 Nov 2012



Seconds

Indexing time (0-5 sec) — explorer.server.4
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xperf-read—1-uni-views.conf

# XPERF test with views:

# 8K ops/sec (background, cluster-wide)
# READ ONLY

# 16 clients per cluster

# 10M dataset

# 3 ddocs with [2-2-4] views

# unidirectional

# 1 bucket

# stop after 3 hours

performance.iperf.XVPerfTests.test_vperf_3d_unidir
params:

# general
batch=50
kind=json
mem_quota=16000

# xdcr
xdcr_num_buckets=1

# load phase
items=10000000
hot_init_items=2000000
wait_for_xdc_replication=1

# access phase
ratio_sets=0.0
ratio_misses=0.025
ratio_creates=0.0
ratio_deletes=0.0
ratio_hot=0.2
ratio_hot_gets=0.95
ratio_hot_sets=0.95
ratio_expirations=0.0
bg_max_ops_per_sec=500
fg_max_ops=8000000000
total_clients=16
time=10800

# control (defaults: pytests/performance/perf_defaults.py)
load_wait_until_drained=1

loop_wait_until_drained=0

mcsoda_heartbeat=3

tear_down=1

tear_down_proxy=1

tear_down_bucket=0

tear_down_cluster=1

tear_down_on_setup=0



xdcr—4—-nodes.ini
[global]
username:root
password:couchbase
port:8091
data_path:/data

[clusterl]

1:nirvana.server.1
2:nirvana.server.2
3:nirvana.server.3
4:nirvana.server.4

[cluster2]

l:explorer.server.1
2:explorer.server.2
3:explorer.server.3
4:explorer.server.4

[servers]

1:nirvana.server.1l
#10.2.2.218, 192.168.164.20
2:nirvana.server.2
#10.2.2.219, 192.168.164.21
3:nirvana.server.3
#10.2.2.220, 192.168.164.22
4:nirvana.server.4
#10.2.2.221, 192.168.164.23
5:explorer.server.1
#10.2.2.190, 192.168.163.20
6:explorer.server.2
#10.2.2.191, 192.168.163.21
7:explorer.server.3
#10.2.2.192, 192.168.163.22
8:explorer.server.4
#10.2.2.193, 192.168.163.23

[clients]

L:nirvana.client

#10.2.2.223, 192.168.164.25
2:explorer.client
#10.2.2.194, 192.168.163.24

[membase]
rest_username:Administrator
rest_password:password



